Math 2153, Quiz #16, Spring 2014
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Instructions: Show all work. Use exact answers unless specifically ask

1. Anobjectis dropped into a gravity field with @ = —5j ft/sec

. > ~ 2
] and initial position 7(0) = — 4 300j. Find the position fun
When and where does the particle hit the ground?
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ed to round. Be sure to complete

It has initial velocity 7(0) = 2{ +
ction for the particle at time t>0
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T 2. Use Lagrange Multipliers to maximize the function f(x,y) = x* + 2y* — x subject to the
constraint x? + y? = 1.
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